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. HpI/IBGCTI/I YPaBHCHHUA KPUBBIX K KAHOHUYCCKOMY BUAY.
. HOCTpOI/ITB BCC KpPpHUBBIC Ha OI[HOﬁ KOOpIIHHaTHOﬁ IIJIOCKOCTH.

N

Bapuanr 1
1. y? —dy+ 8z —84=0;

2. * —4y—8r—52=0;

3. 22 +4y° — 40y + 22+ 97 = 0;

4. 2% +4y® — 40y — 10z +121 = 0;

5. x2+y2—4y—4x+7:0;

6. x2+y2+6y—4:c+9:0;

7. 2?2 +4y2 —10y +22 +25=0;

8. 22 +1y> —10y—102 +49 =0;

9. 642° — 369> + 144y — 2567 +2416 =0 ;

10. 422 + 4% — 4y — 962 + 576 = 0;

11. 42” + y* — 4y + 64z + 256 = 0.
Bapuanr 2

x2—|—y2—|—2y—2m—3420;

m2+y2—20y—2x—|—76:0;

2522 + 649> + 1408y — 50z + 6169 = 0;

72 4+ 4y? — 56y — 22 +193 =0;
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7° —|—y2 — 24y +2x 4144 = 0;



6. x2+y2—24y—63:++152:0;
7.
8
9

4x2+y2—24y—|—833—|—144:();

. 42? + % — 24y — 242 + 176 = 0;
. 92° —36y° — T2y — 182 — 351 =0;

10. 4> —20y — 4z +124 = 0;

11. y* —20y 4 4z +116 = 0.
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Bapuanr 3
x2+y2—4y—4x+7:0;

972 + 4% — 36z —4y+31=0;

2? +y* —4y+8z—80 = 0;

22 +9y° — 90y + 28z + 412 = 0;

2? +4y° +16y + 222 +133 = 0;

22 +y* =12y + 14z + 84 = 0;

2? +y* =12y + 142+ 81 =0;

8127 — 25y 4+ 100y + 648z + 3221 = 0;
y2—4y—6x—|—4():0;

10. > —4y — 3z +19 = 0;
11. 22 —6y + 8z +83 =0.
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Bapuanrt 4
332—|—y2—4y—|—493—|—420;

25627 + 81y> — 324y + 1024z — 19388 = 0;

C 22 49y + 72y + 42 +139 = 0;
C 2+t — 14y +122+ 81 =0;
C 2ty — 14y — 4z 449 =0;

422 4+ — 14y + 48z +189 = 0;
422 +y? —14y — 162 + 61 = 0;
22 4+ 4y + 42 +8 =0;

2?42y +4r+16=0;



10. 1442” — 81y? + 324y + 576z + 11916 = 0;

11. 162° — 81y” + 324y + 642 — 1556 = 0.
Bapuaur 5
Y2 —2y+ 62 —47 = 0;

P —2y—62—59=0;
C 24y — 32+ 82 +T6=0;
: x2+4y2—32y—4x—|—6420;
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3
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5. 22+ —2y+20+1=0;

6. 22 +y> +8y+2z+13=0;

7. 22+ 4> —8y+8x+31=0;

8. 22 +y? —8y—4r+19=0;

9. 642” — 36y + T2y + 1287 + 2332 =0;

10. 42” 4+ ¢y* —2y — 722 + 321 = 0;

11. 422 + 1% — 2y + 88z + 481 = 0.
Bapuanrt 6

1 2?4+ —4dy—20—4=0;

2. 22 +9> — 14y +87+64 =0;

3. 22 +y> —14y— 122+ 84 =0;

4. 92° + 4y® + 48y — 18z 4+ 117 = 0;

5. 2% 4 4y*> — 56y + 8z 4208 = 0;

6. 22 +4y®> — 127 — 56y +228 = 0;

7. 4y—|—4x—y2—4O:0;

8. y* —dy+4r+32=0;

Q. m2—8y—2x—9520;

10. 22 + 8y — 22 —127 = 0;

11. 19622 — 36y° + 144y — 392z + 7108 = 0.



Bapuaur 7
x2+y2—4y—|—6x—2320;
2? + 1y =26y + 62 +153 = 0;
2522 + 64y° + 1024y + 150z + 2721 = 0;
22 + 4y* — 80y + 6z + 405 = 0;
22 + % — 30y 4+ 102 + 249 = 0;
22 +y? — 30y + 2z +225 = 0;
472 4+ * — 30y + 8z + 225 = 0;
472 4+ % — 30y + 40z + 321 =0;
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927 — 361> + 144y + 54z — 387 =0;
10. y* — 26y — 4z +177 = 0;
11. y* — 26y + 4z +201 = 0.

Bapuant 8
7° +y2 —2y—2x+1=0;

91% +9° —2y — 187 —1=0;
m2—|—y2—2y—|—10x—7420;
m2+9y2—72y—|—30x—|—36020;

2 + 4y + 24y + 24z +176 = 0;

. 2?4 y? —10y +162+88 =0;

. 2?4+ y? —10y +162+85=0;

812° — 25y + 50y + 810z + 4025 = 0;
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y2—2y—6:1:—|—31:O;
10. y* —2y — 3z +13 =0;
11. 22 —6y + 10z 4+91 = 0.

Bapuant 9
1. 2? +y> +4y—22+1=0;

2. 25622 + 81y” + 324y — 512z — 20156 = 0
3. 2% 4+ 9y% + 144y — 22 + 568 = 0;



2?4y —6y+6z+14=0;
c 2 +y? —6y—102+ 30 =0;
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6. 42° +y°> —6y+24z +41=0;

7. 42% +® —6y — 40z +105=0;

8. x2+4y—2x—|—2120;

Q. x2—|—2y—2:1:—|—21:();

10. 1442” — 81y? — 324y — 288z + 11484 = 0;

11. 1622 — 81y — 324y — 322 — 1604 = 0.
Bapuant 10

: x2+y2—4y—4x+4:0;

. 2?4+ 9? — 14y + 62 +57 =0;
c2? +y — 14y — 142+ 97 = 0;
. 922 + 4y + 48y — 361 + 144 = 0;

1

2

3

4

5. 2% 4 4y*> — 56y + 62 4201 = 0;

6. 2° 4+ 4y> —56y — 14z +241 = 0;

7. 4y—|—4az—y2—44:0;

8. i —4y+8z+52=0;

9. 22 —8y—4x—92=0;

10. 2% + 8y — 4z —124 =0;

11. 19622 — 36y> + 144y — 784z + 7696 = 0.
Bapuanr 11

x2—|—y2—2x—|—4y—3120;

x2+y2—2m—18y+57:0;

253 4 64y> — 50z + 1536y + 7641 = 0 ;
22 4+ 4y? — 20— 48y +141=0;

22 + 9> +22—22y +121 =0;

22 4+ % — 63 —22y +129 = 0;
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42 + % — 242 — 22y +153 = 0;



8. 42 + 1y + 8z —22y +121 =0;

9. 922 —36y° — 18z — 144y — 459 = 0;

10. 4> — 4z — 18y +105 = 0;

11. y* + 42 —18y +97 =0.
Bapuant 12

x2+y2—2x—|—4y—|—4:0;

972 + 4> — 18z +4y +4 =0

22 +y° +10z 44y — 71 =0;

22 + 9y® + 30z — 18y +225 = 0;

2 + 4y* + 24z + 48y 4284 = 0;

2?4+ y? +162 — 4y +67 =0;

2 +° +162 —4y+64=0;

8172 — 25y + 810z — 100y + 3950 = 0;
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y> + 4y — 6z +34 =0;
10. 4> +4y — 32 +16 = 0;
11. 22 — 6y + 10z +73 =0.

Bapuanr 13
: y2 +4y 48 —52 =0;

: y2—|—4y—8x—84:0;
. 2?4+ 4y® — 8y +10z +25 =0;
2P 44yt —8y—22+1=0;
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2

3
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5. 22 4+9° +4y+4x+7=0;
6. 22447 +1dy + 4z +49 = 0;

7. 2?2 +y* =2y +10z +25=0;

8. x2+y2—2y—2x+1:0;

9. 162% —9y* — 108y + 64z + 316 = 0;
10. 42? + % + 12y — 64z + 288 = 0;

11. 422 4 ¢y + 4y 4+ 40z 4100 = 0.



Bapuant 14
. 2P —l—y2 —10y — 22 +22 =0,

1

2. 25622 + 81y* — 810y — 5127 — 18455 = 0;

3. m2+9y2+18y—2x—|—1:0;

4. 2% 4+ 4% —20y + 624105 =0;

5. 22 +y> —20y—10z +121=0;

6. 42° 4+ y° —20y + 24z +132 = 0;

7. 42® 4+ y* — 20y — 40z 4+ 196 = 0;

8. x2+4y—2x—7:0;

Q. x2+2y—2x+7:0;

10. 1622 — 9y* +18y — 322 +1303 = 0;

11. 162> — 81y + 810y — 32z — 3305 = 0.
Bapuanr 15

1. 22 4+4*>—2y—82+8=0;

2. m2+y2—2y—8x—|—820;

3. 22 +4> — 12y — 182 +116 =0;

4. 92° 4 4y® + 56y — 722 + 304 = 0;

5. 2 4 4y® — 48y + 2z + 141 = 0;

6. 22 +4y® — 18z — 48y +221 = 0;

7. 4 —2y— 4z +49 = 0;

8. y2—|—2y+4x—|—17:0;

9. 22 —8y—8r—88=0;

10. 22 + 8y — 162 —104 = 0;

11. 4922 —9y* + 18y — 98z + 2539 = 0.



